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Because @ lies in quadrant I11, x is negative.

1'2 +_\'2 = r3
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x==+1600

x=—40
Now we use values for x, v, and r to find the

required values.
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Because ris a distance, it is positive.

rt=x? +_\‘2
r* = (—4)" +(-3)?
rr =25

r=>5

Since 1807 < @ < 270", then 90° < % <135°.
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Therefore EY lies in quadrant II.

Thus, sinE > 1), cus% <), and tan il <)
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14. sing=--=—"-=2
I3
Because & lies in quadrant 11, x is negative.
2 _\'2 =2
2 (-2)' =3
=5
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56. tano=

x==5
Now we use values for x, v, and r to find the
required values.

sin 268 = 2sin@cos &
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Because ris a distance, it is positive.
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rr=x"+y

= (-15)" +(-8)°
r* =289

r=+/289

r=17

Since 180° <@ < 270°, then 90" < (—; < 135"

. o ..
Therefore 5 lies in quadrant II.

Thus, sin d >0, cos d < () and tan & <0.
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Because « lies in quadrant I1, y is positive.
Leyi=r?
(=5 +y* =(13)’
yi=144
y=12
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Since z <o <, then x < il < £. Therefore
2 4 2 2
lies in quadranl L.

Thus, sin— 5 >0 ms—>0 and Ian—>0
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Because @ lies in quadrant I1, v is positive. b. CUSE = T
Kryi=i?
1) +y* =3
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y= J& k
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Since —< & < &, then —<—<— Therefore @
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lies in quadrant . =
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Thus, sin— =10, cnsE =0, and tan ? =1, 1
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